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JEE MAIN : CHAPTER WISE TEST-2 

SUBJECT :- MATHEMATICS DATE.......................................................... 

CLASS :- 11
th

NAME......................................................... 

CHAPTER :- BASIC MATHS SECTION..................................................... 
(SECTION A)

1. The product of all the integers which do
not belong to the solution set of the

inequality  
3 | x | 2

| x | 1




 2 is

(A) –1 (B) –4 (C) 4 (D) 0

2. Let f(x) = |x – 2| and g(x) = |3 – x| and

A be the number of real solutions of the
equation f(x) = g(x)
B be the minimum value of h(x) = f(x) +
g(x)
C be the area of triangle formed by f(x) =

|x – 2|, g(x) = |3 – x| and x-axis and  <  <
 <  where  <  are the roots of f(x) = 4

and  <  are the roots of g(x) = 4, then the

value of sum of digits of 
2 2 2 2

ABC

     
. 

(A) 7 (B) 8 (C) 11 (D) 9

3. The number of solution of the equation

log3|x – 1| . log4|x – 1| . log5|x – 1| = log5|x

– 1| + log3|x – 1| . log4|x – 1| are

(A) 3 (B) 4 (C) 5 (D) 6

4. Find the number of all the integral

solutions of the inequality

2 2

4 2

(x 2)( x 16)

(x 2)(x 9)

 

 
  0 

(A) 1 (B) 2 (C) 3 (D) 4

5. Find the complete solution set of the

inequality  
21 21 4x x

x 1

  


 0

(A) 2 6 2, 3  

(B) 2 2 6, 1  

(C) 2 2 6, 1     2 6 2, 3  

(D) 2 2 6, 1    2 6 2, 3  

6. The solution set of the inequality

3

| x 2 | – | x |

4 – x


 0 is 

(A) 3[–1, 4) (B) 3[1, 4)

(C) 3[–1, 2) (D) 3[0, 4)

7. The number of integers satisfying the

inequality  
2
1/ 2 2log x 4log x < 2   (4 –

log16x
4
) are

(A) 2 (B) 3 (C) 4 (D) 5

8. If f1(x)  = | | x | – 2| and fn(x) = |fn – 1(x) –2|

for all n  2, n  N, then number of
solution of the equation f2015(x) = 2 is
(A) 2015 (B) 2016
(C) 2017 (D) 2018

9. If graph of y = f(x) in (–3,1), is as shown in
the following figure

and g(x) = n(f(x)), then the graph of y = 

g(– |x|) is 

(A) 

(B) 

(C) 

(D) 

10. The equation ||x – a|  – b| = c has four

distinct real roots, then

(A) a > b – c > 0 (B) c > b > 0

(C) a > c + b > 0 (D) b > c > 0
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11. Number of the solution of the equation 2
x

= |x – 1| + |x + 1| is

(A) 0 (B) 1 (C) 2 (D) 

12. Number of integral values of 'x' satisfying

the equation 3
|x + 1|

 – 2.3
x
 = 2.|3

x
 – 1| + 1

are

(A) 1 (B) 2 (C) 3 (D) 4

13. |x
2
 + 6x + p| = x

2
 + 6x + p  x  R where p

is a prime number then least possible

value p is

(A) 7 (B) 11 (C) 5 (D) 13

14. If (log10x)
2
 – 4|log10x| + 3 = 0, the product

of roots of the equation is :

(A) 3 (B) 10
4

(C) 10
8
 (D) 1

15. The equaiton ||x – 1| + a| = 4 can have

real solutions for x if a belongs to the

interval

(A) (–, 4]

(B) (4, )

(C) (–4, )

(D) (–, –4) U(4,  )

16. The number of values of x satisfying the

equation | 2x + 3 | +  | 2x 
 
–

 
 3 | = 4x + 6, is

(A) 1 (B) 2 (C) 3 (D) 4

17. Number of prime numbers satisfying the

inequality  is equal to 

(A) 1 (B) 2 (C) 3 (D) 4

18. If |x + 2| + y = 5 and  x – |y| = 1 then the

value of (x + y) is

(A) 1 (B) 2 (C) 3 (D) 4

19. The number of value of x satisfying the

equation x  
1A

 = (x  1)
7
, where A =

log3 x²  2 logx9 

(A) 1 (B) 2 (C) 0 (D) 3

20. The number of integral value of x

satisfying the equation
3

log x 2  

3log x 2 = 2 

(A) 1 (B) 2 (C) 3 (D) 4

(SECTION B) 

21. The value of 
9log/436log)3log/1( 795 32781   is

equal to

22. If ,2log.log 5 xa a then x is equal to

23. If ,2log2256logloglog
2422 A then A is 

equal to 

24. If ,,, accbba zyx  then value of xyz is

25. If ,47712.03log,30103.02log 1010  the 

number of digits in 812 23  is 

26. If a, b, c are distinct positive numbers,

each different from 1,  such that

]loglog[log]loglog[log bbbaaa bcaacb 

,0]loglog[log  ccc cba  then abc =

27. The number of  real values of the

parameter k for which 

0loglog)(log 1616
2

16  kxx with real 

coefficients will have exactly one solution 

is 

28. If ,
2

3

3

2
222 xx 
















then x = 

29. If ,xy yx  then ,)/( )/()/( kyxyx xyx  where

k

30. The remainder obtained when the

polynomial 2438127931 xxxxxx   is

divided by 1x  is

log
| |

| |
3

2

2

4 3

5
0

x x

x x

 

 

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